11.4 Multiplying Integers

ESSENTIAL QUESTION: "1 < ¥ \n & P*‘OB\}\L'\ RN
\wXegats Posit VT, wegative o ey .

The product of two integers with the same signis .~ o LaVE"

4 <\ number of negatives the product is Qo i xWwa

The product of two integers with different signs is X9 O'* WE
od number of negatives the product is “a aX V. @

5-(-6)=3 ¢ 9 (-N= -G3 —66==230 —8-(-12)= q &
—5-(-5)= 2D 4-(~11) = — N Y ~7 9= - S}
-8 (-)= %6 12-(—6)= — "\ X 4:(-6)= — D ‘¥
~7-(=5)-(-4) = ~10(-6)(0) =
IS W) 2 -\ Geol(o) = 0

2(=7)(-10) = —9(5)(-3) =

W (V) 2o —H sy 2 \35
USING EXPONENTS
Evaluate (—2)* _— U Evaluate — 52 — 2.5 Evaluate (—4)* = - &k

Evaluate the expression.

-32= -6%= -3\ 6 (-2)%= - R -7%= -\ Q

The bar graph shows the number of taxis a company has in
service. The number of taxis decreases by the same amount each
year for 4 years. Find the total change in the number of taxis.
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